Aerial Cam Unit

- B-UCMSC/ B-UCMSF -

/B—UCIVISC150 (00° ~70° ) *This drawing shows B-UCMSC150 )
B-UCMSF150 ( 00° ~70° )
280
2-$13H7 135+0.05 N 4-¢13-420
|
o & | | | o
o é & | | p
@ N
63 4 32H7 7\O,
< S
20+0.05 240
(7100206,

270

17.5+0.05

150
115+0.02

=
)
=
B
o
8
3
=
S
=

M Spring Specification
for B-UCMSF150 Q e\ %

45+0.05) 2-#13H7 \ 4-¢13-¢20

| I AT oo
Email : mk@asianadvanced.co.th



Aerial Cam Unit

- B-UCMSC/ B-UCMSF -

w 0 S A B C D E F G
0 32.10 280.00 85.00 185.00 94.00 -120 160.00
5 32.30 288.26 95.84 174.16 ) -115 173.26
10 38.90 285.54 102.36 167.64 98.90 105 180.54
15 39.70 291.79 114.47 155.53 98.70 186.79
20 46.10 286.97 122.07 147.93 103.50 90 196.97
25 47.80 291.02 135.08 134.92 103.20 201.02
R I 5430 | 28302 | 13840 | 131.60 50 112.80 0 213.92
B-UCMSF150 85 57.40 285.66 151.91 118.09 112.40 215.66
40 64.30 276.20 155.53 114.47 121.90 45 231.20
45 69.60 275.56 169.14 100.86 121.40 230.56
50 77.80 263.74 167.65 102.35 137.00 25 238.74
55 87.20 260.74 180.96 89.06 137.60 235.74
60 98.50 246.60 193.92 76.08 138.20 0 246.60
65 81.60 241.35 206.49 63.51 40 138.60 241.35
70 86.40 240.01 218.56 51.44 30 141.90 5 245.01
B Table of Components B-UCMSC150 B-UCMSF150
No. Description Qty | Material and Remark No. Description Qty | Material and Remark
@ Cam Dirver 1 | HT250 @ Cam Dirver 1 | HT250
@ Cam Slider 1 | HT250 @ Cam Slider 1 | HT250
@ Cam Holder 1 | HT250 @ Cam Holder 1 | HT250
@ Slide Plate 2 | Q235 @ Slide Plate 2 | Q235
@ Spring Guide Pin 1 | Q235 @ Spring Guide Pin 1 | Q235
@ Stopper Plate 1 | Q235 @ Stopper Plate 1 | Q235
@ Spring Guide Block 1 | QT500 @ Spring Guide Block 1 [ QT500
Positive Return Follower | 2 | 45 Positive Return Follower | 2 | 45
@ Cam Slide Guide 1 | Bronze @ Cam Slide Guide 1 | Bronze
A0 |Key 1 |45 Key 1 |45
@ Safety Plate 1 | Q235 @ Safety Plate 1 | Q235
@ Stopper 2 | Urethane @ Stopper 2 | Urethane @22 x 23
@ Coil Spring 1 @ Coil Spring 1
(49 | Dowel Pin with Female Thread | 2 | @ 10 x 40 Dowel Pin with Female Thread | 2 | @ 10 x 40
@ Hexagon Socket Head Bolt | 4 | M 12 x 30 Hexagon Socket Head Bolt | 4 | M 12 x 30
@ Hexagon Socket Head Bolt | 8 | M 10 x 25 @ Hexagon Socket Head Bolt | 8 | M 10 x 25 -
@ Hexagon Socket Head Bolt | 2 | M 10 x 35 Hexagon Socket Head Bolt | 2 | M 10 x 35 g
Hexagon Socket Head Bolt | 2 | M 16 x 35 Hexagon Socket Head Bolt | 2 | M 16 x 35 —
@ Hexagon Socket Head Bolt | 2 | M6 x 15 Hexagon Socket Head Bolt | 2 | M6 x 15 ‘.‘_“.,
@ Coil Spring 1 ©
@) |Bushing 1| Q235 &
=C
Option Code Specification
Order No : K Dedicated key is attached for cam driver.
Catalog No. | | (W) | - | (9) | TK Dedicated key is attached for cam holder
(T-shaped) and cam driver.
B -UCMSC 150 - 70 N16 The dowel pin holes for the cam holder
B - UCMSF 150 - 70 and cam driver are changed to @ 16H7.

rooroweozcowons A I
Email : mk@asianadvanced.co.th

AAAAAAAAAAAAAAAAAAAAAA




Aerial Cam Unit

- B-UCMSC/ B-UCMSF -

Working Force kN(tonf)

Spring Force N (kgf)

CatalogNo. | (W) | (g) TrasV9| Standard Allowable TotaII:Nelght
Working Working | |nitial Load | Final Load g
Force Force
(one million strokes) | (300,000 strokes)
00 32.1 454
05 32.3 459
10 38.9 44.4
15 39.7 44.9
20 46.1 43.2
25 47.8 43.7
635.5
30 54.3 (26242'88) 422
88.2 132.3 (22.7) 4607.5
B-UCMSC (9.0) (13.5) (470.2)
B-UCMSF 150 35 57.4 1235 185.2 9540.0 42.7
(12.6) (18.9) (973.4)
40 64.3 41.0
45 69.6 41.4
=
= 50 77.8 40.5
= : :
o
QD
= 55 | 87.2 409
=
=
=3
60 98.5 415
1429.2
65 93.2 (;gf'g) 42.2
(51.2)
22232
70 | 864 (338'2’ 435
(79.6)

'ASIAN ADVANGED TECHNICA GO, LTD.

ADDTTIONALE DIE COMPONENTS
Email : mk@asianadvanced.co.th



—
—
=
c
X
<
-
@
=

- B-UCSC/ B-UCMSF -

Cam Diagram

Hun wey jeLay

o j N °9g Q>
[eAei] SS8ld |eAel]| ssald _o>SOme9n_ |eAeI] ssBld 10
6°8¢] N 7Sy 1z |eAel| SS8ld
) oy o o =
%wu W \/oo > O A.OVMU/ Lo )J\ ™
< — 1~ @ ) h% (- @b@ o @L@/ a0 b ]
7N <& NS AAmv/_m
e o Q o o
e e} = o o
T N ~ Ts) ~
OOAW Om
|eABI] Ssald
ULy w.ow
N % W 3 ®
N o/ @ @) /. :
2 - © e i Va e
o ¥ ~ ° N o \/Av o
o) ° Yo o
e & ™ B ©
0 o °09
|onel] sseid |oABl] SS8ld P
Nm¢¢ 6L9 |oABl| SSld
< s
@ VRS o 2 1) o)
= Ss 2 v & L0 EYS s
e IS Y& y eb@ @@mv
\ ~ \/f @/—@/
OO o OO O_lo OO N\
S L0 1) < 1)

ASIAN ADVANGED TEGHNICA GO, LTD.

Email : mk@asianadvanced.co.th

ADDTTIONALE DIE COMPONENTS



Aerial Cam Unit

- B-UCMSC/ B-UCMSF -

Spring Diagram B-UCMSC
00° 05° 10°
4607.5 4607.5 4607.5
(470.2) 470.2) 470.2)
3988.8 P b 3996.7 » 4099.9 [ b
(407.0) (407.8) (418.4)
6355 | Ll 0N 6355 | | N 6355 | 1Ll oS
(64.8) M [1 (64.8) p (64.8) p [
Length Yrndlarg] | em7.8 Length at Fnel Load 32| | em7.7 Length at Fnal Load 92| | em 6.4
Length at Initial Load 142 Initial Deflection § Length at Initial Load 142 Initial Deflection 8 Length at Initial Load 142 Initial Deflection §
T
Free Length 150 ‘ Free Length 150 Free Length 150
[ TL60-150] [ TL60-150] [ TL60-150)
15° 20° 25°
4607.5 4607.5 4607.5
(470.2) (470.2) (470.2)
4107.9 41793  JIIIIIIIIIR 41952 J-
(419.2) (426.5) (428.1)
635.5 6355 | Ll N 6355 | B
(64.8) ) (64.8) v [l (64.8) y
Lengh taldnl | em6.3 Length atFinal Load 92| | _em5.4 Length at Final Load 92 | em5.2
Length at Initial Load 142 Initial Deflection & Length at Initial Load 142 I |nitial Deflection § Length at Initial Load 142 Initial Deflection 8}
Free Length 150 Free Length 150 Free Length 150
[ TL60-150] [ TL60-150] [ TL60-150)
30° &5° 40°
4607.5 4607.5 4607.5
(470.2) (470.2) (470.2)
4242.8 N 4258.7 4298.4
(432.9) (434.6) (438.6)
6355 | B B 635.5 6365 | B
(64.8) /7 (64.8) v || (64.8) 1
Length at Final Load 32 em4.6 Length at Final Load 92 em4d.4 Length aq Final Load 92 em3.9
Length at Initial Load 142 Initial Deflection 8 Length at Initial Load 142 |nitial Deflection § Length at Initial Load 142 |nitial Deflection §
Free Length 150 Free Length 150 ‘ Free Length 150
[ TL60-150] [ TL60-150) [ TL60-150]
45° 50° 55°
4607.5 46075 4607.5
(470.2) \ 470.2) 470.2)
43222  [IIC 4353.9 4377.8
(441.0) (444.3) (446.7)
= 6365 | B 635 | N 6365 | B B
(-] (64.8) / (64.8) " (64.8) 4
E- Length elxlt Final Load 92 em3.6 Length at Final Load 92 em3.2 Length a/I Final Load 92 em2.9
— | ength at Initial Load 142 Initial Deflection d Length at Initial Load 142 Initial Deflection 8 Length at Initial Load 142 Initial Deflection §
g Free Length 150 Free Length 150 Free Length 150
= [ TL60-150] [ TL60-150] [ TL60-150)
(—
= 60° 65° 70°
—
4607.5 4607.5 4607.5
(470.2) \/ (470.2) \/\ (470.2)
4409.5 SIIIIIIIINN 4441.3 oo - 44730 JTooooooooC
(450.0) (453.2) (456.4)
6355 | Lol 14292 | ] N D 22232 | LIS
(64.8) . Il (145.8) y (226.8) " I
Lengthg{ Final Load 92 em2.5 Length a4 Final Load 92 em?2.1 Length at Final Load 92 em1.7 ‘
Length at Initial Load 142 Initial Deflection 8| Length at Initial Load 132 Initial Deflection 18 Length at Initial Load 122 | Initial Deflection 28
Free Length 150 ! Free Length 150 Free Length 150
[ TL60-150] [ TL60-150] [ TL60-150]

Y S PAT oo
Email : mk@asianadvanced.co.th

'ASIAN ADVANGED TECHNICA GO, LTD.



Aerial Cam Unit

- B-UCMSC/ B-UCMSF -

Spring Diagram B-UCMSF
00° 05° 10°
9540.0 9540.0 95400 [,
(973.4) (973.4) (973.4)%, \
CTTITITOS F—====4 TSI
3801.7/ 3875.3/ 4831.6"
(387.9) (395.4) (493.0)
2228 | ____ | i 2228 | _____ 2228 | ___|] i
(22.7) (22.7) (22.7)
|Lengthat il losd 47| | em7.8 Lengthat Fnal Load 47| | em7.7 LengthatFinal Load 47) | emb.4
Length at Initial Load 82 Initial Deflection 8 Length at Initial Load 82 Initial Deflection Length at Initial Load 82 Initial Deflection 8
Free Length{For Iniial Load 90,For Final Load 60) Free Length(For Initial Load 90,For Final Load 60) Free Length(For Initial Load 90,For Final Loed 60)
[ TF40-90 ) [ TF40-90 ] [ TF40-90 ]
[ THB0-60 ] [ THB0-60 ] [ THE0-60 ]
15° 20° 25°
9540.0 \_\\ 9540.0 9540.0
(973.4) (973.4) (973.4)\
[-=-2TN Rt it 3
4905.1. 5567.1 5714.3
(500.5) (568.1) (683.1)
2228 | N . 2228 | B . 2228 | | i
(22.7) (22.7) (22.7)
LenghatFil Load 47) | em6.3 Lengthatfinaload 47| | em5.4 LengthatFind Load 47| | em5.2
Length at Initial Load 82 Initial Deflection § Length at Initial Load 82 Initial Deflection 8| Length at Initial Load 82 Initial Deflection 8
Free LengthiFor Intal Load 90,For Final Load 60) Free Length{For Inil Load 90,For Final Load 60) Free LengthiFor Inftal Load 90,For Final Load 60}
[ TF40-90 ] [ TF40-90 ] [ TF40-90 ]
[ TH60-60 ] [ TH60-60 ] [ TH60-60 ]
30° ) 35° 40°
9540.0 9540.0 9540.0
©73.4\ \ (©73.4\ \ (973.4) \
—— ———— —====1]
6155.6, 6302.7 6670.5,
(628.1) 1(643.1) (680.7)
2228 | _____ B 222.8 S B 2228 | _____|]
(22.7) (22.7) (22.7)
Lengthat FinalLoad 47| | em4.6 Lengthat Find Loed 47) | em4.4 LengthatFind Load 47| | em3.9
Length at Initial Load 82 Initial Deflection 3 Length at Initial Load 82 | Initial Deflection 8 Length at Initial Load 82 Initial Deflection 8|
Free Length(For Initial Load 90,For Final Load 60) Free Length(For Initial Load 90,For Final Load 60) Free Length(For Initial Load 90,For Final Load 60)
[ TF40-90 ] [ TF40-90 ] [ TF40-90 ]
[ THE0-60 ] [ TH60-60 ] [ THB0-60 )
45° 50° b5°
9540.0 9540.0 9540.0
(973.4) (973.4) (973.4)
L TTITITION
6891.2 71854 7406.1
(703.2) (733.2) (765.7)
2228 | _____ B . 222.8 2228 | ____| i
(22.7) (22.7) (22.7)
Lengthat FinelLoad 47| | em 3.6 LenghatFinalLload 47) | em3.2 Lengthat Final Load 4| | em2.9 ‘
Length at Initial Load 82 Initial Deflection 8} |.___Length at Initial Load 82 Initial Deflection 8] |.__Length at Initial Load 82 Initial Deflection 8
T T
Free Length(For Initial Load 90,For Final Load 60) Free Length(For Initial Load 90,For Final Load 60)_J Free Length(For Initial Load 90,For Final Load 60)
[ TF40-90 ) [ TF40-90 ] [ TF40-90 ]
[ THE0-60 ] [ TH60-60 ] [ TH60-60 ]
60° 65° 70°
9540.0 [ 9540.0 9540.0
(973.4) (973.4)%, (973.4)
TIITIIS ettt SITTIION
7700.4/ 7994.6.~ 8288.8/
(785.8) (815.8) (845.8)
2228 | __ | 5013 | __ | AN 7798 |_____ | A ™~
(22.7) (51.2) (79.6)
ipddued | em2 5 LenghatFindl Load 47| | em2.1 Lenghat Findlload 47| | _em 1.7
Length at initial Load 82 Initial Deflection 8 Length at Initial Load 72 Initial Deflection 18 Length at Initial Load 62 Initial Deflection 28
Free LengtiFor iy’ Load 50 For Final Load 61 Free Length{For Initial Load 90,For Final Load 60) Free Length(For Initial Load 90,For Final Load 60)
[ TF40-90 ) TF40-90 ] [ TF40-90 ]
[ TH60-60 ] TH60-60 ] [ TH60-60 ]

ADDTTIONALE DIE COMPONENTS

Email : mk@asianadvanced.co.th

ASIAN ADVANGED TEGHNICA GO, LTD.

=
—]
=
<
(]
c
=
@S
=

L hh



